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fix) = |x| +x AN g(x) = |x| —x
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(A)  4x
B) 2x
@ o
D) —-4x

2. cotl(-+/3)H &I AH B

T

@ -
(B) %
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(D) %"
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)

(ii)
(iit)
(iv)
(v)
(vi)

(vii)

This question paper comprises four Sections A, B, C and D. This question
paper carries 36 questions. All questions are compulsory.

Section A — Questions no. 1 to 20 comprises of 20 questions of 1 mark each.

Section B — Questions no. 21 to 26 comprises of 6 questions of 2 marks each.
Section C — Questions no. 27 to 32 comprises of 6 questions of 4 marks each.
Section D — Questions no. 33 to 36 comprises of 4 questions of 6 marks each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 2 questions of two marks,
2 questions of four marks and 2 questions of six marks. Only one of the choices
in such questions have to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice type questions. Select the correct
option.

1.

If f and g are two functions from R to R defined as f(x) = |x| + x and

g(x) = |x| —x, then fog (x) for x <0 is

(A)  4x
B) 2x
C 0
D) -4x

The principal value of cot~1(—+/3) is

A - g
(B) g

(© 23—“
(D) %“
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-2 0 0
8. dCA=|0 -2 0|8 d |adjA| B AAE
0 0 -2
(A) 64
(B) 16
) 0
D) -8
4., Th y=-x3+3x2+ 12x — 5 hl JUAT 1 3Afeehan I B
(A) 15
B) 12
© 9
D) o0

5. j *ﬂi) dx ST 2
cos“(xe*)

(A) tan (xe¥) +c
(B) cot (xe¥) +c
(C) cot(e¥+c
(D) tan[eX(1+x)]+c
2 3
6. T THIH x2d—§=(xﬂ—yj EARoI
dx dx
A 1
B 2
) 3
(D) 6
7. p e o8 WA e T p(i+ § + k) Tk A Wi B, 3
(A)

(B)
(©)

(D)
.65/3/1 | Previous pathshala
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IfA=| 0 -2 0 |,then thevalueof |adjA]| is

0 0 -2
(A) 64
(B) 16
C 0
D) -8

The maximum value of slope of the curve y = —x3 + 3x2 + 12x — 5 is
(A 15

B) 12
© 9
(D) 0

X
j # dx is equal to
cos”(xe™)

(A) tan (xe¥) +c

(B) cot(xe¥) +c

(C) cot(e¥+c

(D) tan[eX(1+x)]+c

2 3
The degree of the differential equation x2 %y = (xd—y - yj is

A 1
B 2
) 3
D) 6

AN AN A
The value of p for which p(i + j + k) is a unit vector is

A 0
1
B i
(B) Vel
© 1
NE}

(D)
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8.  XZ-\wdd W forg (- 2,8, 7) ¥ STl T T & UTg o e &
B 2,8,-7
) (=2,0,7
(D) (0,8,0)
9. XY-GHad ol Aiey GHiem 8
@A r.k=0
® T.i=0
© T.i=0
D r.n=1

10. T e T U s gEd & Hie fo | fogmen e g
HMT z = 3x — 4y Th 3¢90 B & | z 1 —IJaH T

(A)
(B)
(®)
(D)

65/3/1 |

y
(4, 10)

0, 8) (6, 8)

(6, 5)

0,0 (5, 0)

(0, 0) IX
(0, 8) W
(5,0) I
(4, 10) W
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8. The coordinates of the foot of the perpendicular drawn from the point
(-2, 8, 7) on the XZ-plane is

A (-2,-8,7)

B) (2,8,-7)
€ (=207
(D) (0,8,0)

9. The vector equation of XY-plane is

A T.k=0
B T.j=0
© T.i=0
D T.mnm=1

10. The feasible region for an LPP is shown below :
Let z = 3x — 4y be the objective function. Minimum of z occurs at

y
(4, 10)
(0, 8) (6, 8)
(6, 5)
(0, 0) (5: 0) x
A (0,0)
B (0,8)
(C) (5,0
(D) (4,10)
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J97 G&IT 11 & 15 a% & G4 Jo1 & @rct! €977 9RT |

11.

12.

13.

14.

15.

Qtl'%y=tan‘1x+co‘|:‘1x, xe R %,?‘ﬁ ;1_}7 =
X

YT

'ﬂﬁcos(xy):k,ﬂ'&ﬁk@ ST 7§ qAT Xy #N0M, N € Z%,Fﬁ

dy _
dx

AX, e x<n
aﬁf(x)={

coS X, ?T% X>T

TN qRTYd e f, x = 1 T Gad 81, dl A T qH &
Wy:secx%ﬁ%(O,l)Wwﬁ-%@TﬂﬂﬁW% |

faepuit 21 - 3k A TR UQYE HI AFEAR o 5 |
areran

A @ ome e faw mfw o) — A 4k @ 1 o+25 -k ifes §

g

TH I H 3 FIA, 4 A@ T 27 T 2 | G T I Th Y Agedl O |
Ferreft 72 8, 9 39 T & fua-fie wn h e i wilkesar g |

97 GE&IT 16 @ 20 37 TIT I a1 5§97 & |

16.

17.

18.

2 x 2 %1 IE A = [a;;] T, Fal 3164 ay; = | ()% - |5 ¥4 3 |

x % |, sin? (Vx ) T et HINT |

I8 AU F1d hifoT "Ed fx) = 7 — 4x — x2 g Yed o f, = adam
g |
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O

Fill in the blanks in question numbers 11 to 15.
dy

11. If y=tanlx+cot1x, x e R, then I is equal to
X
OR
If cos (xy) = k, where k is a constant and xy # nm, n € Z, then 3—}7 is
X

equal to

12. The value of A so that the function f defined by
AX, if x<T
f(x) = .
COS X, if X>T

1s continuous at x = m 1S

13. The equation of the tangent to the curve y = sec x at the point (0, 1) is

AN AN
14. The area of the parallelogram whose diagonals are 2i and —3k is
square units.

OR

N N A N A N
The value of A for which the vectors 21 —Aj + k and i +2j — k are

orthogonal is

15. A bag contains 3 black, 4 red and 2 green balls. If three balls are drawn
simultaneously at random, then the probability that the balls are of
different colours is

Question numbers 16 to 20 are very short answer type questions.

16. Construct a 2x2 matrix A= [aij] whose elements are given by

a;= |-

17. Differentiate sin? (vx ) with respect to x.

18. Find the interval in which the function f given by f(x) = 7 — 4x — x2 is

strictly increasing.

65/3/1 | Previous gathshala P.T.0.
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19.

20.

2
J-|X|dX
—2

AT

Eﬂ_dﬁ'%m:
J dx
9+4X2
Tsh IEMAd s 4 91 IDTAT AT 8 | hH-8-hH Ush oR fud ITH i <hl
TTRRrehat 3T ShifSTT |

Qs @

97 G&IT 21 G 26 TF IiF 972 3B 71 & |

21.

22,

23.

24.

x % T g« il
sin~1 4x + sin™1 3x=—g
AYAT
tan_lL sz J,—ﬁ<x<ﬁﬁwwﬁmﬁﬁﬁq |
1-sinx 2 2

S A:B _jJﬁwwﬁﬁwam@%W-wﬁaw%
MRS & F9 H h HINT |
'?T% y2cos(1J=a2%,?ﬁg—§3ﬂH@ﬁrQ|

zwitsu 5 Fred Q) YR At @ SR b F R |2 + b |=|a - b
2, % s Faw A @ oM b crreEq W § |

3AUAT
zofee i afew 21— +k, 314+7] +k 3 5146 +2k UH FHEW
Brge it yeid Feffa = §
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19.

20.

Evaluate :
2

J-|X|dX

-2

OR

Find :
J dx
9+ 4X2

An unbiased coin is tossed 4 times. Find the probability of getting at least
one head.

SECTION B

Question numbers 21 to 26 carry 2 marks each.

21.

22.

23.

24.

Solve for x :

sin~! 4x + sin~1 8x = — g
OR

2

Cos X 3n T
—sinx )’

Express tan_lL1 ——<XxX< 5 in the simplest form.

-3

4
Express A = {2 J as a sum of a symmetric and a skew symmetric

matrix.

If y2 cos (lj =a? , then find j—y .

X X
- -
Show that for any two non-zero vectors a and b ,
- > e - .
|la + b|=]a — b |iff a and b are perpendicular vectors.
OR

A S ) AN A
Show that the vectors 2i—j + k, 31i+7j + k and 51 +6j + 2k form
the sides of a right-angled triangle.

65/3/1 | Previous fjathshala P.T.0.
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25.

26.

(-1,1,-8) 3 (5, — 2, 10) H TFRA el @M ZX-d =l W€ folg T el 3,
39 fomg & fadames wma Ffvm |
Ifg A 3R B g 9eAT¢ 38 YR B foh P(A) = 0-4, P(B) = 0-3 AT P(A U B) = 0-6
8, @ P(B’ N A) 91d HifSr |

Qug T

J97 G&IT 27 G 32 T b G974 37l HT & |

217.

28.

29.

30.
31.

32.

T o f(x) = — =, x (= o0, 0) T IRATNT B f: (— o0, 0) — (= 1, 0)

1+|x|’
Teh Ueheh! o 3T<BTEH Bl 8 |
3T

Tonsy b 999 R¥g=T A=1(1,2,3,4,5,6/HR=1{@a,b): [a—b|,27
fafora 8) v gooran dey 3 |

gfe y:x3 (cos x)* + sin~1v/x %, al 3—y 3d <hifste |
X
A F1d I

5

J (x| + |x+1]| + |x=5])dx

~1
Rl TSR x2y dx — (x3 + y3) dy = 0 1 419 & JTd HI9T |
Fraffaa Was Tomm awen = e fafa @ 5 hife .

frfafea =atdt & i
z=5x+"Ty
T =AU HIT
2x+y =8
X+ 2y =10
x,y=>0

T I # 3 Tk B - u SAfia TR gE sHfa 7 | Afia foes il SoTer
R a3 & T 60% 2 | GHI H | Th fHeh I A1geHAT AT ST 7 SR W
IBTAT ST 3 | Ife T8 W ue omar 2, @ =1 WiResar @ for a8 smfiHa faem
g7

HAYAT
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25. Find the coordinates of the point where the line through (-1, 1, — 8) and
(5, — 2, 10) crosses the ZX-plane.

26. If A and B are two events such that P(A)=04, P(B)=03 and
P(A U B) = 0-6, then find P(B’ N A).

SECTION C
Question numbers 27 to 32 carry 4 marks each.

X
1+|x|

27. Show that the function f : (— <, 0) —» (-1, 0) defined by f(x) =

>

X €(— 0, 0) is one-one and onto.
OR

Show that the relation R in the set A = {1, 2, 3, 4, 5, 6} given by
R ={(a,b): |a—b]| is divisible by 2} is an equivalence relation.

28. If y=x3(cos x)* + sin"1Vx, find 3—}’ .
X

29. Evaluate:

5
j (x| + |x+1] + |x=5])dx
-1

30. Find the general solution of the differential equation
x2y dx — (x3 + y3) dy = 0.

31. Solve the following LPP graphically :
Minimise z = 5x + 7y
subject to the constraints
2x+y =8
X+ 2y =10
x,y=>0
32. A bag contains two coins, one biased and the other unbiased. When
tossed, the biased coin has a 60% chance of showing heads. One of the
coins is selected at random and on tossing it shows tails. What is the

probability it was an unbiased coin ?

OR
65/3/1 | Previous ggthshala P.T.0.
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TS Agfeeh =9 X T UIehdT &, f 2
01, I  x=0
kxz, e x=1

P(X=x)=
kx, e  x=23aT3
0, 3T
&l k Ueh =R 2 |
sn?rﬁﬁ—m:
(a) k <1 HIH
(b) Px<2)

(c) =X X bl HIY
Qs ¥

Y97 G&IT 33 G 36 TF IciF Y976 3H] T & |

33.

34.

35.

36.

frefafaa adfieo feem o1 5o seg fafy @ w0 hifse
X—-y+2z="17
2x —y + 3z =12
3x+2y—-z=5
AT
IRfees dishansti g ffafad oegg A 1 Sohn W hifve, s|t
2 1 -3

A=|-1 -1 4
3 0 2

T 9y2 = x3 % o fog Ta I, 9 | a6 W AT gA1 318 | &HE
e ST 3 | Ifrerst o gt Y 3 kil |

R Tty @, fefifaa 89 =1 &da%a J1a i
(x,y):y< |x]| +2, yZXZ}
e
TaTheH fafyr @ weh @ Biye &1 e s hifse ek st (1, 0), (2, 2) qen
3,17 |
ziisy o Tard
X—2:y—2=z—369ﬂ x—2:y—3=z—4
1 3 1 1 4 2
TER ThH-GER ol e 7 |
gfdesed fomg o o off F@ HINT | 39 QA W@rsll Hl JAEE HH ard
gaqd 1 e ot 39 i |
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The probability distribution of a random variable X, where k is a constant
is given below :

01, if x=0
kx?2, if x=1
PX =x)=
kx, if x=2o0r3
0, otherwise
Determine
(a) the value of k
(b) Px<2)
(e) Mean of the variable X.
SECTION D

Question numbers 33 to 36 carry 6 marks each.

33.  Solve the following system of equations by matrix method :

X—y+2z="T7
2x —y+3z=12
3x+2y—-z=5
OR
Obtain the inverse of the following matrix using elementary operations :
2 1 -3

A=|-1 -1 4
3 0 2

34. Find the points on the curve 9y? = x3, where the normal to the curve
makes equal intercepts with both the axes. Also find the equation of the
normals.

35. Find the area of the following region using integration :

(% y):y< x| +2,y>x2}

OR
Using integration, find the area of a triangle whose vertices are (1, 0),
(2,2) and (3, 1).
36. Show that the lines
X—2:y—2:z—3 and x—2:y—3:z—4
1 3 1 1 4

Also, find the coordinates of the point of intersection. Find the equation of
the plane containing the two lines.

65/3/1 Previous fathshala
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